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AEC-01 : ENVIRONMENTAL CHEMISTRY 
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Note : (i) Attempt all the questions. 

 (ii) The marks for each question are given 

against it.  

1. (a) Fill in the blanks (any five) : 1×5=5 

(i) Solvent extraction is based on the 

principle of .............. distribution. 

(ii) A stormy weather results due to low 

............... system. 

(iii) The .............. is a measure of hydrogen 

ion concentration in a liquid. 
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(iv) Cholera is a .............. borne disease. 

(v) The study about microorganisms is 
called ............. 

(vi) The ease of flow of electric current 
through a body is called its ............ 

(b) Give the full form of the following  
(any five) : 1×5=5 

(i) DO 

(ii) COD 

(iii) FES 

(iv) UV 

(v) AAS 

(vi) TLC 

(c) Define the following (any five) : 2×5=10 

(i) Monochromator 

(ii) Viruses 

(iii) Biological oxidation 

(iv) Fat 

(v) Normality 

(vi) Molarity 
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2. Answer any four of the following : 4×5=20 

(a) Describe the ion exchange properties of 
soil. 

(b) Briefly explain Henry’s law. 

(c) Name the different stages of Hydrological 
cycle. Explain any one of them. 

(d) Describe the impact of ozone layer 
depletion on air pollution. 

(e) Classify soil on the basis of its hierarchical 
order.  

3. Answer any four of the following : 4×5=20 

(a) What is meant by air quality ? State the 
major air quality concerns. 

(b) Describe the methods used for reducing 
wastewater quantity.  

(c) Describe the biological treatment methods 
for industrial effluents. 

(d) What is a pesticide ? Give one function for 
each of the following : 

(i) Insecticides 

(ii) Fungicides 

(iii) Herbicides 

(iv) Nematicides 
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(e) Explain the membrane filter technique. 
Give advantages and disadvantages of this 
technique.  

4. Answer any four of the following : 4×5=20 
(a) Differentiate between primary and 

secondary pollutants. 
(b) What are the different types of water 

related health diseases ? Briefly explain 
pathogenic bacteria. 

(c) Differentiate between strong acid cation 
exchanger and weak acid cation exchanger. 

(d) Describe the preservation technique for 
water samples.  

(e) List the factors which affect fertilizer 
requirements. Explain any one of them. 

5. Write short notes on any four of the following :  
4×5=20 

(a) Mole concept 
(b) Types of rocks 
(c) Aerobic and anaerobic decomposition of 

sewage 
(d) Column chromatography 
(e) Potentiometry 
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      AEC–01 

Lukrd mikf/ dk;ZØe (ch-Mh-ih-) 

l=kkar ijh{kk 

fnlEcj] 2024 

(O;ogkjewyd ikB~;Øe) 

,-bZ-lh--01 % i;kZoj.k jlk;u 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % (i) lHkh iz'uksa ds mÙkj nhft,A 

 (ii) izR;sd iz'u ds vad mlds lkeus fn, x, gSaA 

1- (d)  fjDr LFkku Hkfj, (dksbZ ik¡p) % 1×5=5 

 (i)   foyk;d fu"d"kZ.k ------------------- forj.k ds 

fu;e ij vk/kfjr gksrk gSA 

 (ii)   rwiQkuh ekSle fuEu ------------------- fudk; ds 

dkj.k mRiUu gksrk gSA 
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 (iii)  fdlh nzOk esa gkbMªkstu vk;u dh lkanzrk 

dk eki ----------------- dgykrk gSA 

 (iv)  gStk ,d ---------------------- tfur jksx gksrk gSA 

 (v)   lw{ethoksa ds ckjs esa vè;;u ---------------- 

dgykrk gSA 

 (vi)  fdlh fudk; esa oS|qr /kjk ds izokg dh 

lqxerk mldk ------------------- dgykrk gSA 

([k) fuEufyf[kr ds iw.kZ :i fyf[k, (dksbZ ik¡p) % 

1×5=5 

(i) DO 

(ii) COD 

(iii) FES 

(iv) UV 

(v) AAS 

(vi) TLC 
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(x) fuEufyf[kr dks ifjHkkf"kr dhft, (dksbZ ik¡p) % 

2×5=10 

(i) ,dof.kZ=k 

(ii) fo"kk.kq 

(iii) tSfod mip;u 

(iv) olk 

(v) ukWeZyrk 

(vi) eksyjrk 

2- fuEufyf[kr esa ls fdUgha p kj ds mÙkj nhft, %  

4×5=20 

(d) e`nk ds vk;u fofue; xq.kksa dk o.kZu dhft,A 

([k) gsujh ds fu;e dh la{ksi esa O;k[;k dhft,A 

(x) tyh; pØ dh fofHkUu voLFkkvksa ds uke 

fyf[k,A buesa ls fdlh ,d dh O;k[;k dhft,A 
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(?k) ok;q iznw"k.k ij vkstksu ijr ds ßkl ds izHkko 

dk o.kZu dhft,A 

(Ä)e`nk dks mlds Js.khc¼ Øe ds vk/kj ij 

oxhZdr̀ dhft,A 

3- fuEufyf[kr esa ls fdUgha p kj ds mÙkj nhft, %  

4×5=20 

(d) ok;q xq.koÙkk dk D;k vFkZ gksrk gS \ ok;q 

xq.koÙkk ds eq[; mís'; fyf[k,A 

([k) vif'k"V ty dh ek=kk dks de djus fy, 

iz;qDr fof/;ksa dk o.kZu dhft,A 

(x) vkS|ksfxd cfg%lzko ds fy, tSfod mipkj 

fof/;ksa dk o.kZu dhft,A 

(?k) ihM+duk'kh D;k gksrk gS \ fuEufyf[kr izR;sd ds 

fy, ,d&,d dk;Z fyf[k, % 

 (i) dhVuk'kh 
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 (ii) doduk'kh 

 (iii) 'kkduk'kh 

 (iv) lw=kd`feuk'kh 

(Ä) f>Yyh fuL;and rduhd dh O;k[;k dhft,A 

bl rduhd ds ykHkksa rFkk gkfu;ksa dks fyf[k,A 

4- fuEufyf[kr esa ls fdUgha p kj ds mÙkj fyf[k, %  

4×5=20 

(d) izkFkfed rFkk f}rh;d iznw"kdksa ds chp vUrj 

Li"V dhft,A 

([k) ty laca/h LokLF; jksxksa ds fofHkUu izdkj 

dkSu&ls gksrs gSa \ jksxtud cSDVhfj;k dh la{ksi 

esa O;k[;k dhft,A 

(x) izcy vEy /uk;u fofuek;d rFkk nqcZy vEy 

/uk;u fofuek;d ds chp vUrj Li"V dhft,A 



 [ 10 ] AEC–01 

B–1400/AEC–01   

(?k) ty ds uewuksa dh laj{k.k rduhd dk o.kZu 

dhft,A 

(Ä) moZjd vko';drk dks izHkkfor djus okys 

dkjdksa dks lwphc¼ dhft,A buesa ls fdlh ,d 

dh O;k[;k dhft,A 

5- fuEufyf[kr esa ls fdUgha p kj ij laf{kIr fVIif.k;k¡ 

fyf[k, %   4×5=20 

(d) eksy vo/kj.kk 

([k) pÍkuksa ds izdkj 

(x) okfgr ey dk ok;oh; rFkk vok;oh; vi?kVu 

(?k) dkWye o.kZys[kh 

(Ä) foHkofefr 
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